SCW A7

M &

/)
SR~
AR
X + 17
A WH |8 +f1# VA
T 2 RD HD G
M. F e G
VD
2-EE(4n) Fot4tiA PL

<
]
I aEmy

‘ @BA dll ‘

N\
Qé _
P—l—

KK

—ERHW

—EESW

BG BG
e e

H
e
@
>
w
®
H
ﬂ
oy
H
H
I
=
i
~
H
H
E
N
E
<
<
w
s
T
(i
Py
_'
_|

¢ 32 22 | 30 | 16 | 46 |G1/8| 6.5 | 27 | 16 | M10X1.25| 13 12 | 10 | 13 | M6
¢ 40 24 | 35 | 16 | 52 |G1/4| 9 | 27| 18 | M12X1.25| 13 105 16 | 13 | 14 | M6

4 6
4 8
¢ 50 32 | 40 | 16 | 65 |G1/4| 105 315| 24 | M16X15 | 14 | 5 | 106| 8 20 | 17 | 155| M8
5 8
5
5

a|l s>

¢ 63 32 | 45 | 16 | 75 |G3/8| 12 | 31.5| 24 | M16X15 | 14 121 9 | 20 | 17 | 16.5| M8
¢ 80 40 | 45 | 17 | 95 |G3/8| 14 | 38 | 30 | M20X1.5 | 20 128 | 11 |115| 25 | 22 | 19 | M10| 10
¢ 100 40 | 55| 17 | 114 |G1/2| 15 | 38 | 30 | M20X1.5 | 20 13g| 11 | 17 | 30 | 22 | 19 | M10| 10
76| vavp [wi| x | ro| 0 |

932 |325 4 26 | 146 | 55 | 155

¢ 40 38 4 30 | 163 | 55 | 26.5
@ 50 46.5 4 37 [ 179 7 17
¢ 63 56.5 4 37 [194 7 32
¢ 80 72 4 46 | 218 | 13 20
¢ 100 89 4 51 | 233 |125]| 305
4y [ D R B
XA + i
_ —
) el — 1
NN\ % e | _
g g r<>\ |—- B B N B B -—|
’ M ¥ 5 J
2 ‘ TR ‘\ 4-0AB Al AU AU _|A0
- SA+4T#
LE

L______[aslan Aol AaTlauliefsA (TR [ XA
¢ 32 7 32 | 8 4 24 | 46 | 142 | 32 |144
¢ 40 10 36 | 10 28 | 52 | 161 | 36 |163
@ 50 10 | 45 | 10 32 | 65 | 170 | 45 | 175
¢ 63 10 50 | 10 32 | 75 | 185 | 50 |190
¢ 80 12 63 | 13 41 | 94 | 210 | 63 |215
@100 145 | 71 |15 41 | 114|220 | 75 |230

ool |~

CKD s



